		2022 PAVEMENT REPAIR PROJECT										
		RFB No. 22-005										
		BID OPENING DATE JUNE 29, 2022 10:00 A.M.										
					Bi	d 1	В	id 2	Bi	d 3	Engineer	Estimate
		Vendor Name>			Puget Paving a	Puget Paving and Construction		Central Paving, LLC		ources, Inc.		
	Location>				Lakewood, WA 98499		Ellensburg, WA 98926		Puyallup, WA 98372			
Item N	Specs	Item Description	Unit	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
		SCHEDULE A - WEYERHAEUSER WAY S										
1	1-09	MOBILIZATION	LS	1	\$18,000.00	\$18,000.00	\$43,500.00	\$43,500.00	\$19,000.00	\$19,000.00	\$19,030.68	\$19,030.6
2	1-10	TRAFFIC CONTROL SUPERVISOR	LS	1	\$8,400.00	\$8,400.00	\$12,615.00	\$12,615.00	\$21,000.00	\$21,000.00	\$3,600.00	\$3,600.00
3	1-10	OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$10,672.00	\$10,672.00	\$18,610.00	\$18,610.00	\$5,800.00	\$5,800.00	\$7,500.00	\$7,500.0
4	1-10	FLAGGERS	HR	252	\$72.00	\$18,144.00	\$79.75	\$20,097.00	\$70.00	\$17,640.00	\$70.00	\$17,640.0
5	1-10	OTHER TRAFFIC CONTROL LABOR	HR	9	\$72.00	\$648.00	\$79.75	\$717.75	\$72.00	\$648.00	\$70.00	\$630.0
6	1-10	SEQUENTIAL ARROW SIGN	HR	90	\$16.50	\$1,485.00	\$1.10	\$99.00	\$5.00	\$450.00	\$7.50	\$675.0
7	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HR	90	\$16.50	\$1,485.00	\$5.50	\$495.00	\$10.00	\$900.00	\$22.50	\$2,025.0
8	2-01	ROADSIDE CLEANUP	FA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.0
9	2-02	SAWCUTTING	LF	4190	\$1.00	\$4,190.00	\$2.50	\$10,475.00	\$0.01	\$41.90	\$0.45	\$1,885.5
10	2-03	ROADWAY EXCAVATION INCL. HAUL	CY	194	\$180.00	\$34,920.00	\$126.00	\$24,444.00	\$320.00	\$62,080.00	\$185.00	\$35,890.0
11	5-04	HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	TN	400	\$210.00	\$84,000.00	\$204.00	\$81,600.00	\$265.00	\$106,000.00	\$150.00	\$60,000.0
12	8-01	EROSION/WATER POLLUTION CONTROL	FA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.0
13	8-01	INLET PROTECTION INSERT	EA	18	\$65.00	\$1,170.00	\$90.00	\$1,620.00	\$98.00	\$1,764.00	\$95.00	\$1,710.0
14	8-09	RAISED PAVEMENT MARKER, TYPE 2	HUND	0.3	\$2,890.00	\$867.00	\$2,750.00	\$825.00	\$2,750.00	\$825.00	\$650.00	\$195.0
15	8-09	HYDRANT MARKER, TYPE 2B	EA	2	\$58.00	\$116.00	\$55.00	\$110.00	\$55.00	\$110.00	\$25.00	\$50.0
16	8-22	PLASTC LINE	LF	322	\$11.00	\$3,542.00	\$11.00	\$3,542.00	\$11.00	\$3,542.00	\$7.50	\$2,415.0
17	8-22	PLASTIC WIDE LINE	LF	67	\$22.00	\$1,474.00	\$22.00	\$1,474.00	\$22.00	\$1,474.00	\$7.50	\$502.5
18	8-22	PLASTIC CROSSWALK LINE	SF	20	\$56.00	\$1,120.00	\$55.00	\$1,100.00	\$55.00	\$1,100.00	\$12.50	\$250.0
		SUBTOTAL SCHEDULE A				\$196,233.00		\$227,323.75		\$248,374.90		\$159,998.6
		SCHEDULE C - MILITARY ROAD S (N)										
1		MOBILIZATION	LS	1	\$10,000.00	\$10,000.00	\$6,800.00	\$6,800.00	\$5,000.00	\$5,000.00	\$5,808.79	\$5,808.7
2		TRAFFIC CONTROL SUPERVISOR	LS	1	\$5,000.00	\$5,000.00	\$4,250.00	\$4,250.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.0
3		OTHERTEMPORARY TRAFFIC CONTROL	LS	1	\$2,122.00	\$2,122.00	\$6,275.00	\$6,275.00	\$950.00	\$950.00	\$4,500.00	\$4,500.0
4	_	FLAGGERS	HR	180	\$72.00	\$12,960.00	\$79.75	\$14,355.00	\$70.00	\$12,600.00	\$70.00	\$12,600.0
5	1-10	OTHER TRAFFIC CONTROL LABOR	HR	4	\$72.00	\$288.00	\$79.75	\$319.00	\$72.00	\$288.00	\$70.00	\$280.0

6	1-10	SEQUENTIAL ARROW SIGN	HR	54	\$16.50	\$891.00	\$1.10	\$59.40	\$5.00	\$270.00	\$7.50	\$405.00
7	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HR	54	\$16.50	\$891.00	\$5.50	\$297.00	\$10.00	\$540.00	\$22.50	\$1,215.00
8	2-02	SAWCUTTING	LF	1768	\$1.00	\$1,768.00	\$2.50	\$4,420.00	\$0.01	\$17.68	\$0.45	\$795.60
9	2-03	ROADWAY EXCAVATION INCL. HAUL	CY	32	\$180.00	\$5,760.00	\$119.00	\$3,808.00	\$320.00	\$10,240.00	\$185.00	\$5,920.00
10	5-04	HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	TN	65	\$250.00	\$16,250.00	\$189.00	\$12,285.00	\$265.00	\$17,225.00	\$150.00	\$9,750.00
11	8-01	EROSION/WATER POLLUTION CONTROL	FA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
12	8-01	INLET PROTECTION INSERT	EA	5	\$65.00	\$325.00	\$90.00	\$450.00	\$98.00	\$490.00	\$95.00	\$475.00
13		RAISED PAVEMENT MARKER, TYPE 2	HUND	0.1	\$2,890.00	\$289.00	\$2,750.00	\$275.00	\$2,750.00	\$275.00	\$650.00	\$65.00
14	8-09	HYDRANT MARKER, TYPE 2B	EA	1	\$58.00	\$58.00	\$55.00	\$55.00	\$55.00	\$55.00	\$25.00	\$25.00
15	•	PLASTIC LINE	LF	56	\$55.00	\$3,080.00	\$55.00	\$3,080.00	\$55.00	\$3,080.00	\$7.50	\$420.00
16	•	PROFILED PLASTIC LINE	LF	19	\$80.00	\$1,520.00	\$72.00	\$1,368.00	\$71.50	\$1,358.50	\$7.50	\$142.50
17	•	PLASTIC STOP LINE	LF	8	\$110.00	\$880.00	\$110.00	\$880.00	\$110.00	\$880.00	\$7.50	\$60.00
18		PLASTIC TRAFFIC ARROW	EA	3	\$336.00	\$1,008.00	\$330.00	\$990.00	\$330.00	\$990.00	\$125.00	\$375.00
		SUBTOTAL SCHEDULE C				\$66,090.00		\$62,966.40		\$60,759.18		\$48,836.89
		SCHEDULE D - MILITARY ROAD S (S)										
1	1-09	MOBILIZATION	LS	1	\$2,500.00	\$2,500.00	\$7,400.00	\$7,400.00	\$5,000.00	\$5,000.00	\$7,125.49	\$7,125.49
2	1-10	TRAFFIC CONTROL SUPERVISOR	LS	1	\$5,000.00	\$5,000.00	\$4,450.00	\$4,450.00	\$4,500.00	\$4,500.00	\$3,600.00	\$3,600.00
3		OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$1,000.00	\$1,000.00	\$6,800.00	\$6,800.00	\$1,250.00	\$1,250.00	\$4,500.00	\$4,500.00
4		FLAGGERS	HR	153	\$72.00	\$11,016.00	\$79.75	\$12,201.75	\$70.00	\$10,710.00	\$70.00	\$10,710.00
5		OTHER TRAFFIC CONTROL LABOR	HR	6	\$72.00	\$432.00	\$79.75	\$478.50	\$72.00	\$432.00	\$70.00	\$420.00
6		SEQUENTIAL ARROW SIGN	HR	90	\$16.50	\$1,485.00	\$1.10	\$99.00	\$5.00	\$450.00	\$7.50	\$675.00
7		PORTABLE CHANGEABLE MESSAGE SIGN	HR	90	\$16.50	\$1,485.00	\$5.50	\$495.00	\$10.00	\$900.00	\$22.50	\$2,025.00
8	2-02	SAWCUTTING	LF	2192	\$1.00	\$2,192.00	\$2.50	\$5,480.00	\$0.01	\$21.92	\$0.45	\$986.40
9	- ••	ROADWAY EXCAVATION INCL. HAUL	CY	43	\$1.80	\$77.40	\$119.00	\$5,117.00	\$320.00	\$13,760.00	\$185.00	\$7,955.00
10		HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	TN	87	\$225.00	\$19,575.00	\$189.00	\$16,443.00	\$265.00	\$23,055.00	\$150.00	\$13,050.00
11		EROSION/WATER POLLUTION CONTROL	FA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
12	•••	INLET PROTECTION INSERT	EA	16	\$65.00	\$1,040.00	\$90.00	\$1,440.00	\$98.00	\$1,568.00	\$95.00	\$1,520.00
13	0.00	RAISED PAVEMENT MARKER, TYPE 2	HUND	0.3	\$1,000.00	\$300.00	\$2,810.00	\$843.00	\$2,750.00	\$825.00	\$650.00	\$195.00
14		HYDRANT MARKER, TYPE 2B	EA	2	\$58.00	\$116.00	\$55.00	\$110.00	\$55.00	\$110.00	\$25.00	\$50.00
15	• ==	PLASTIC LINE	LF	192	\$11.00	\$2,112.00	\$11.00	\$2,112.00	\$11.00	\$2,112.00	\$7.50	\$1,440.00
16			LF	318	\$11.00	\$3,498.00	\$11.00	\$3,498.00	\$11.00	\$3,498.00	\$7.50	\$2,385.00
17	8-22	PLASTIC WIDE LINE	LF	36	\$22.00	\$792.00	\$22.00	\$792.00	\$22.00	\$792.00	\$7.50	\$270.00
		SUBTOTAL SCHEDULE D				\$55,620.40		\$70,759.25		\$71,983.92		\$59,906.89

		TOTAL BASE BID				\$317,943.40		\$361,049.40		\$381,118.00		\$268,742.46
		ALTERNATE A1, SCHEDULE E - REDONDON WAY S										
1	1-09	MOBILIZATION	LS	1	\$1,650.00	\$1,650.00	\$3,450.00	\$3,450.00	\$2,500.00	\$2,500.00	\$741.01	\$741.01
2	1-10	TRAFFIC CONTROL SUPERVISOR	LS	1	\$2,450.00	\$2,450.00	\$4,610.00	\$4,610.00	\$350.00	\$350.00	\$1,000.00	\$1,000.00
3	1-10	OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$500.00	\$500.00	\$2,250.00	\$2,250.00	\$90.00	\$90.00	\$1,000.00	\$1,000.00
4	1-10	FLAGGERS	HR	18	\$72.00	\$1,296.00	\$79.75	\$1,435.50	\$70.00	\$1,260.00	\$70.00	\$1,260.00
5	1-10	OTHER TRAFFIC CONTROL LABOR	HR	2	\$72.00	\$144.00	\$79.75	\$159.50	\$72.00	\$144.00	\$70.00	\$140.00
6	1-10	SEQUENTIAL ARROW SIGN	HR	18	\$16.50	\$297.00	\$1.10	\$19.80	\$5.00	\$90.00	\$10.75	\$193.50
7	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HR	18	\$16.50	\$297.00	\$5.50	\$99.00	\$10.00	\$180.00	\$22.50	\$405.00
8	2-02	SAWCUTTING	LF	48	\$1.00	\$48.00	\$2.50	\$120.00	\$0.01	\$0.48	\$0.45	\$21.60
9	2-03	ROADWAY EXCAVATION INCL. HAUL	CY	3	\$1,500.00	\$4,500.00	\$119.00	\$357.00	\$625.00	\$1,875.00	\$185.00	\$555.00
10	•••	HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	ΤN	6	\$960.00	\$5,760.00	\$189.00	\$1,134.00	\$600.00	\$3,600.00	\$150.00	\$900.00
11	8-22	PLASTIC LINE	LF	30	\$83.00	\$2,490.00	\$83.00	\$2,490.00	\$82.50	\$2,475.00	\$7.50	\$225.00
		SUBTOTAL SCHEDULE E				\$19,432.00		\$16,124.80		\$12,564.48		\$6,441.11
		ALTERNATE A2, SCHEDULE F - SW CAMPUS DR										
1	1-09	MOBILIZATION	LS	1	\$2,100.00	\$2,100.00	\$3,450.00	\$3,450.00	\$2,500.00	\$2,500.00	\$1,392.78	\$1,392.78
2	1-10	TRAFFIC CONTROL SUPERVISOR	LS	1	\$2,450.00	\$2,450.00	\$1,740.00	\$1,740.00	\$350.00	\$350.00	\$1,000.00	\$1,000.00
3	1-10	OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$500.00	\$500.00	\$2,565.00	\$2,565.00	\$90.00	\$90.00	\$1,500.00	\$1,500.00
4	1-10	FLAGGERS	HR	50	\$72.00	\$3,600.00	\$79.75	\$3,987.50	\$70.00	\$3,500.00	\$70.00	\$3,500.00
5	1-10	OTHER TRAFFIC CONTROL LABOR	HR	4	\$72.00	\$288.00	\$79.75	\$319.00	\$72.00	\$288.00	\$70.00	\$280.00
6	1-10	SEQUENTIAL ARROW SIGN	HR	18	\$16.50	\$297.00	\$1.10	\$19.80	\$5.00	\$90.00	\$10.75	\$193.50
7	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HR	54	\$16.50	\$891.00	\$5.50	\$297.00	\$10.00	\$540.00	\$22.50	\$1,215.00
8	2-02	SAWCUTTING	LF	62	\$1.00	\$62.00	\$2.50	\$155.00	\$0.01	\$0.62	\$0.45	\$27.90
9	2-03	ROADWAY EXCAVATION INCL. HAUL	CY	3	\$1,500.00	\$4,500.00	\$119.00	\$357.00	\$625.00	\$1,875.00	\$225.00	\$675.00
10	5-04	HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	TN	6	\$960.00	\$5,760.00	\$189.00	\$1,134.00	\$600.00	\$3,600.00	\$238.00	\$1,428.00
11	8-01	INLET PROTECTION INSERT	EA	2	\$65.00	\$130.00	\$90.00	\$180.00	\$98.00	\$196.00	\$95.00	\$190.00
12	-	PLASTIC STOP LINE	LF	6	\$110.00	\$660.00	\$110.00	\$660.00	\$110.00	\$660.00	\$7.50	\$45.00
13	8-22	PLASTIC CROSSWALK LINE	SF	21	\$56.00	\$1,176.00	\$55.00	\$1,155.00	\$55.00	\$1,155.00	\$12.50	\$262.50
		SUBTOTAL SCHEDULE F				\$22,414.00		\$16,019.30		\$14,844.62		\$11,709.68
		ALTERNATE A3, SCHEDULE G - S 344TH ST										

	TOTAL ALTERNATIVE BID				\$118,838.00		\$115,241.00		\$118,809.12		\$81,181.52
	SUBTOTAL SCHEDULE B				\$54,590.00		\$63,258.10		\$68,928.36		\$49,840.01
15		LF	324	\$11.00	\$3,564.00	\$11.00	\$3,564.00	\$11.00	\$3,564.00	\$7.50	\$2,430.00
14	8-09 HYDRANT MARKER, TYPE 2B	EA	1	\$58.00	\$58.00	\$55.00	\$55.00	\$55.00	\$55.00	\$25.00	\$25.00
13		HUND	0.1	\$2,890.00	\$289.00	\$2,750.00	\$275.00	\$2,750.00	\$275.00	\$650.00	\$65.00
12		EA	11	\$65.00	\$715.00	\$90.00	\$990.00	\$98.00	\$1,078.00	\$95.00	\$1,045.0
11	8-01 EROSION/WATER POLLUTION CONTROL	FA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.0
10	5-04 HMA CL. ½ IN PG 58H-22 FOR PAVEMENT REPAIR	TN	40 95	\$210.00	\$19,950.00	\$189.00	\$17,955.00	\$265.00	\$25,175.00	\$150.00	\$14,250.0
9	2-02 ROADWAY EXCAVATION INCL. HAUL	CY	46	\$180.00	\$1,330.00	\$2.30 \$119.00	\$5,474.00	\$320.00	\$13.30	\$185.00	\$8,510.0
8	2-02 SAWCUTTING	LF	1336	\$10.50	\$394.00	\$3.50	\$198.00	\$10.00	\$300.00	\$22.50 \$0.45	\$610.0
7	1-10 PORTABLE CHANGEABLE MESSAGE SIGN	HR	36	\$16.50	\$594.00 \$594.00	\$1.10	\$39.60	\$5.00 \$10.00	\$160.00	\$7.50	\$270.0 \$810.0
5 6	1-10 SEQUENTIAL ARROW SIGN	HR	4 36	\$72.00 \$16.50	\$288.00 \$594.00	\$79.75 \$1.10	\$319.00	\$72.00	\$288.00 \$180.00	\$70.00 \$7.50	\$280.0 \$270.0
4 5	1-10 PLAGGERS 1-10 OTHER TRAFFIC CONTROL LABOR	HR	126 4	\$72.00 \$72.00	\$9,072.00 \$288.00	\$79.75 \$79.75	\$10,048.50 \$319.00	\$70.00 \$72.00	\$8,820.00 \$288.00	\$70.00 \$70.00	\$8,820.0 \$280.0
3	1-10 OTHER TEMPORARY TRAFFIC CONTROL 1-10 FLAGGERS	LS HR	1	\$1,000.00 \$72.00	\$1,000.00 \$0,072.00	\$6,190.00 \$70.75	\$6,190.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.0
2	1-10 TRAFFIC CONTROL SUPERVISOR 1-10 OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$3,350.00	\$3,350.00	\$4,195.00	\$4,195.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.0
1		LS	1	\$2,500.00	\$2,500.00	\$7,615.00	\$7,615.00	\$5,000.00	\$5,000.00	\$5,733.81	\$5,733.8
	ALTERNATE A4, SCHEDULE B - S 288TH ST				* •• • •• • •	<u> </u>	AA A A A A	*= ***	AB C C C C	AZ Z Z Z Z Z	A
	SUBTOTAL SCHEDULE D				\$22,402.00		\$19,838.80		\$22,471.66		\$13,190.7
12		LF	120	\$22.50	\$2,700.00	\$22.00	\$2,640.00	\$22.00	\$2,640.00	\$7.50	\$900.0
11	8-01 INLET PROTECTION INSERT	EA	2	\$65.00	\$130.00	\$90.00	\$180.00	\$98.00	\$196.00	\$95.00	\$190.0
10		ΤN	26	\$290.00	\$7,540.00	\$189.00	\$4,914.00	\$265.00	\$6,890.00	\$150.00	\$3,900.0
9	2-03 ROADWAY EXCAVATION INCL. HAUL	CY	13	\$345.00	\$4,485.00	\$119.00	\$1,547.00	\$320.00	\$4,160.00	\$185.00	\$2,405.0
8	2-02 SAWCUTTING	LF	166	\$1.00	\$166.00	\$2.50	\$415.00	\$0.01	\$1.66	\$0.45	\$74.7
7	1-10 PORTABLE CHANGEABLE MESSAGE SIGN	HR	36	\$16.50	\$594.00	\$5.50	\$198.00	\$10.00	\$360.00	\$22.50	\$810.0
6	1-10 SEQUENTIAL ARROW SIGN	HR	18	\$16.50	\$297.00	\$1.10	\$19.80	\$5.00	\$90.00	\$10.75	\$193.5
5	1-10 OTHER TRAFFIC CONTROL LABOR	HR	2	\$72.00	\$144.00	\$79.75	\$159.50	\$72.00	\$144.00	\$70.00	\$140.0
4	1-10 FLAGGERS	HR	18	\$72.00	\$1,296.00	\$79.75	\$1,435.50	\$70.00	\$1,260.00	\$70.00	\$1,260.0
3	1-10 OTHER TEMPORARY TRAFFIC CONTROL	LS	1	\$500.00	\$500.00	\$2,750.00	\$2,750.00	\$380.00	\$380.00	\$1,000.00	\$1,000.0
2	1-10 TRAFFIC CONTROL SUPERVISOR	LS	1	\$2,450.00	\$2,450.00	\$1,865.00	\$1,865.00	\$1,350.00	\$1,350.00	\$800.00	\$800.0

TOTAL	\$436,781.40	\$476,290.40	\$499,927.12	\$349,923.98
Quote	YES	YES	YES	
Contractor Wage Law Compliance Certification	YES	YES	YES	
Proposal for Incorporating Recycled Materials	YES	YES	YES	
Puget Paving and Construction Inc has conflict occurs on				
Schedule D Item No. 8 between unit price and total. The				
unit price entered at \$1.80 per cubic yard. Based on the				
Bid Schedule Note, fourth line "Where conflict occurs				
between the unit price and the total amount specifed for any				
item, the unit price shall prevail, and totals shall be corrected				
to conform thereto."				
Base Bid (Sch A, C, D) =	\$317,943.40	\$361,049.40	\$381,118.00	\$268,742.46
Base Bid + Alternate A1 (Sch A, C, D & E) =	\$337,375.40	\$377,174.20	\$393,682.48	\$275,183.58
Base Bid + Alternate A2 (Sch A, C, D & F) =	\$340,357.40	\$377,068.70	\$395,962.62	\$280,452.14
Base Bid + Alternate A3 (Sch A, C, D & G) =	\$340,345.40	\$380,888.20	\$403,589.66	\$281,933.18
Base Bid + Alternate A4 (Sch A, C, D, & B) =	\$372,533.40	\$424,307.50	\$450,046.36	\$318,582.47
Base Bid + Alternate A1+ Alternate A2 + Alternate A3 + Alternate A4 (Sch A,	C, D, E, F, G, \$436,781.40	\$476,290.40	\$499,927.12	\$349,923.98